l10Ga308aHue ‘
TOFADIAIUNHMECK MK BolIAEH

MOY COLL Ne 6




OnpepeneHue

 Jlorapudomom NoNoXMUTenbLHOro Yncna e no
NONMOXUTENBbHOMY U OTIIMYHOMY OT 71
OCHOBaHWIO a Ha3blBalOT NOKasaTernb CTEMNEHMWU,
B KOTOPYIO HY>KHO BO3BECTM YMUCIIO &, YTOObI
Nony4ynTb YMCNO 8.

* Hanpumep:
log,8=3,0.6.2" =8
log, = =-3,0.6.37° N

27 27



BLIYNCNINTDL:
| 1

l.log, 16 = 6.log, — = 11.log,—=
8 3
2.log, 64 = 7.log, 16 = 12.log, 81 =
2
3.log, 2 = 8.log, 32 = 13.log, 27 =
9 3
4.]log, 1 9.1o - 14.1o0 o
Jdog, 1= . g%64_ - g;9
] 1
5.log, —= 10.log, —= 15.log, 1=

2 ' :



CBouncrtBa norapudmoB

l.alog"b :b, (a>0,a+1,b>0)

2.1og, b+log, c=log (b-c), (a>0,a#1,6>0,c>0)

3.logab—logac=loga(é), (a>0,a#1,b>0,c>0)
C

4.log b” = plog b, (u>0,a=1,6>0)

1
S.dog ,b=—log,b, (a>0.a=15>0)

P
1

6.log b= , (@>0,a=1,b>0,b=1)
log, a




CBouncTtBa rorapmgpmon

loga® — p  (a>0,a#1,b>0)
Hanpumep:
310g35 .l 5.
Bbluncnntsb:
1 logO,5 7
k.7 -O,llog‘”z’ — 4,2+[_j —
P
2.0,25°%>* _log, 27 = 5.3 . log. % =
3.11°%"° .]og, 0,25 = 6.5°%5° :log, 8 =

Y



CBouncTtBa rorapmgpmoB

log, b+log, c=log (b-c), (a>0,a#1,b>0,c>0)

Hanpumep:

log, 18+1log,2=1og, (18-2)=1log,36=2

Bbluncnutb:
l.log.50+10 D 4.log, 2+1o .9
1085 g52 108, g432
1 1
2.log,, 48 +1log,, 3 = S,Z(log1 2_5+10g1 125) =

5 5

3.log,; 2+1log,9+5= 6.log, 20+1og, 3,2+3 =



CBouncTtBa rorapmgpmoB
log, b—log, c= 10ga(é), (a>0,a=1,b>0,c>0)
C

Hanpumep:
48
log,, 48 —log,, 4 = 10812(7) =10 1.2 B,
Bbluncnuts:
l1.log, 162 —1og, 6 = 4.log, 128 —log, 8 =
4 4
2.1og, 108 —log, 3 = AT e Tl
- 6 6 -108, 5 £-> 10

3.log, 250 —1log. 10 = 6.(log, 78 —log,13):5 =



CBouncTBa fnorapmdomosB
log, b" =plog b, (a>0,a#1,b6>0)

Hanpumep:
] 1 1
log,.37 =—1o I ==.1=—.

g.) 7 g3 7 7
Bblamncnuthb:
1.log,162—1log,(81) "' = 4.10g,100+1og,10—-3log, 2 =

1

2.10g3z+310g32= 5.log,4+2log,3—-1=

3.10g7L+210g714: 6.10g6§+210g63+2:

28



CBouncTBa fnorapmdomosB

1
log ,b=—log,b, (a>0,a#1,b6>0)
P

Hanpumep:

llogw SEwc S 4= 2oy, 4 =282 =4
22

Boluncnutb:

l.log 7 27 = 4.log,, 7—log , 2—1=

14

2xlQo¥ 2 -F 1'= 5.3°%0° _log, 6 =

3.5—1log,, 3= 6.2°%¢7 +log, 125 =



CBouncTBa fnorapmdomosB

1
log, b = J(a>0,a#1,b>0,b#1)
log, a

Hanpumep:

10g: 8" log *o—4 — h—_ 4= —3

Bolancnureb:

1.log,7-log; 2 = 4.log, 25-log, 81 =
2.1log,8-log, 3 = 5.log,, 6-log,, 7 =

3.log, 5-log. 2 = 6.log, 6-log,, 8 —5=



